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We've seen what happens when we change the number of protons (a

different atom) and electrons (an ion). How about neutrons?

Changing the number of neutrons does not change the element, but it
makes varieties of it called isotopes.

Neutrons and protons are sometimes called nucleons (can you guess
why?). They have roughly the same mass, which is much larger than that
of the electron. For this reason, and to distinguish between isotopes of the
same element, the number of nucleons is sometimes written in the top-
left corner of the element’s symbol.

Hydrogen has three isotopes: protium 'H, deuterium 2H, and tritium 3H. The

first one has no neutrons, the second has one, and the third has two:

protium (1H) deuterium (%H) tritium(3H)

Exercise

Carbon also has three natural isotopes, called simply carbon-12 (2C),
carbon-13 (13C), and carbon-14 (}*C). The most common is '?C, but
everything with carbon (including us!) normally has a bit of the other two.

Choose one of the three carbon isotopes and draw its nucleus.
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